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Please choose the correct answer. (F941 WEY 35 =11 (1x100 Mark)
WWhatis the headguarters of South Eastern Railway?
A) Hajipur - B) Koikata (Garden Reac)  C) Kolkata (Fairly Place) D) Bilaspur
Which award is asscciated with Drenacnarya?
A) Literature  B) Spcrs CYMeadicine D) Film
When does a iunar echipse occur?
ﬁ:«) The sun comes between Moon & Earth  B) The Moon comes between sun & Earth
C) The Earth comes between Moon & sun D) The Mars comes between Moon & Earth
What property of material is called the ability to be drawn into wires?

AE Malleability B) Ductility C) Tougliness D) Brittleness
Which day is celebrated as Lzbout Day?

A) January 26 B) July 26 C) August 26 D) May 01
Which of the following is the only star?

A) Moon B) Mars C) Earth D) Sun

Where is the capital of Telangana?

A) Eiengaluru B) Ranchi C) Hyderabad D) Paina

Galvanization is a method of protecting iron from rustirg by coating it with a thin layer of
which material?

A) Silver B) Copper C) Zinc D) Aluminium
in photosynthesis, which gas is released by green plants?
A) Oxygen B) Nitrogen  C) Water Vapor D) Carbon Dioxide e

Which of the following is a type of diesel locomotive engine?
A WAPR-7 B) WAS-9 C)WDM-3A D) WAP-4

\What is the purpose of 2 turbocharger in a diesel locemotive?
A) To increase fuel efficiency B) To reduce emissions

C) To provide additional power D) Tc cool the engine

U

\Which component is responsiole for converting mechanical energy into electrical energy in 2
diesel locomotive?
A Alternator  B) Traztion motor C) Turbocnharger D) Radiator
i//nat is the function of a governor in a diesel engine?
A1 To reguiate fuel flow B) To control engine speed
©) To maintain oil pressurz D) To cool the engine
Which type of transmission is comnionly used in diesel locomotives?
43 Manual transmission B) Automatic transmission
) Hydrostatic transmission D) Cieciric transmission
"/hat is the purpose of a sanding systemin a diesel locomotive?
A) To improve tracticn B) To reduce noise
C) To cool the wheels D) To increase fuel efficiency A
\Which of the following is a safety feature in a diesel locomotive? -
£ Air conditioning B\ Fire axtinguisher  C) GPS navigation D) Radio communication
Ahat is the primary fuel used in diesel locomotives?
8) Diesel C) Natural gas D) Electricity
Nrch part of a diesei locomotive engine is responsible for igniting the fuel-air mixture?
2 Spark plug  B) Injector C) Piston D) Giou:u plug
‘hat is the purpose of a radiator in a diesel locomaotive?
[0 cool the engine B) To heat the cahin
To filter air D} To generate electricily

&) Petrol

g from exhaust chimney. what could be the reason”?
pfater rmved with fuel B) Goverrior ol mixed with fuel
. rrised wath fusl D) None of these all

y from water telltale pipe
B) Fail the loco further

© white sSMoKe 15 emitiin

eaking continuous!
A0 Dummy it and work
A \Work on lower notches

C) Do fast pumping
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V::\e: sdies Sefnmgnﬁﬁrqse::i‘: System  B) Human Resource Management Syslem
uman Railway »anage N

C) Human Development Management System D) None of them

What is the meaning of UMID in Railway? .

A) Unified Medncal%denmy Card  B) Unigre Medical Identity Gard

C) Uniform Medical Identity Card D) None of them
What is the meaning of Mode! SOP in Ratlway?

A) Model Sanction of Power 8) Model Schedu:» of Powel

C) Model Selection of Power ) None of them
What is the meaning of RELHS in Railway?

A Retired Employees Liberalized Health Scheme

B) Railway Employees Liberalized Health Scheme

C) Released Employees Liberalized Health Scheme D) None of them
Institution monitoring of probationary training for Indian Railway senvite of Mechamcal

A)

Engineering (IRSME) situated at

Pune B) Vadodara Cy Jamalpur D) becunderabad

The couplers used to connect two units of DEMU s called

A) Alternate power unit

A) Shaku coupler  B) CBC coupler C) ABC couple D) H type coupler
- The governor fitted in EMD loco is type

A) GE governor B) WW governos C) MCBG gavernor
. APU stands for .

B) Auto power unit  C). Auxiliary power urit - L) None

The brake valve used for application of loco brakes on'y is

A) A-S

- 26CD4UC is 2 type of which assembly:
A) Compressor

. Armo Convertor is used to convert

B) SA-9 C) HS-¢ ) B-1 flap

8) Exhauster C) Expresser D) None

A.) Conven Single Phase to three phase supply B). Converts three phase 1o single phasze
supply

C) Converts to DC D). Converts to AC

Catenary Wire consists of:

fa!
~

™
.

) Cadmium copper wire.  B). Cadmium aluminium wire C). Cadmium sie=
). Molybdenum copper wire.

DJ Stand for

A) Loco Earthing Switch

™
—

B). Tap Changer Resistance C.) High Voltage Circuit Bregkar
j. Air Blast Circuit Breaker

. Output Voltage of Ao is

A) 220V B).380V  C). 1100V D) 750 Vv
Power Supply usad for traction is

A) 1100 KV B) 25 KV C). 110V D). 415 Ky

N i \WAP stands for

Al Wagon B ) Broad Gauae C.) Goods

D) Passenger

“Which of the following railway station has the world's longest railway platform in

india?

~

e
-

o0Ow e

Goraxnpur Railway Station B Kollam Junction, Kharagpur

_Bilaspur Railway Station D. None of the above
Which of the following is the longest train route in the Indian Subcontinent?
\/ sk Express — Dibrugarh to Kanyakumari
Tr ruvananthapuram — Silchar Superfast Express
Himsagar Express — Jammu Tawi to Kanyakumari
Ten Jammu Express — Tirunelveli Jammu




10 bind the speed of the irain, if a train 142 mts long passes 09 poles in 06 sec?

A TT 2 KniHr 5 79.8 Km/Hr C. 85.2 Km/Hr D.79.2Km/Hr
41 79 Which of the following stations has 2!t the three guages viz. broad, Melre and narrow?
c) Shimla d) Siliguri

o) L ucknow b) Chandigarh : .
42 Fairy Queen, the world's oldest steam locomotive in reguiar operation, plies between New

Delhy and )

a) Shimla b) Alwar c) Kalka d)Gwalior
43 By whal name is the (zanga knowr. in Bangladesh?

A.Padma. B.Ganya. C.Damaodar . D.Meghana

44 Which of the following is the part machinery that settles In_dustrial Disputes?
A Labour Court B Industrial Tribunzl C.Work Committee

D.All oplion are corract. '
45 Where is the Research, Design anc Standard Organi .
(a) L ucknow (b) Bangalore (c) Pune (d) New Delh|l
45 In which Governor-General's reign raiway lines in india was e§tab!IShEd?
(a) Lord William Bentick (b) Lord Cornwaih_s
(¢) Lord Kenning (d) l.ord Dalhousie
47 A platform surrounded by rail lines from all the four sites, is called
(a) dock platform (b) passenger platform
(c) isiand platform (d) goods platform '
43. The Mughalsarai junction has recently ren=med as Deen Dayal Upadhyaya railway station. It

15 located in which staie/

zation situated?

(A\) Bihar (B) Uttar Pradesh (C) Uttarakhand (D) Delhi
19 When was the firsl train steamed off in India? ) |
{A) 1848 (B) 1853 (C) 1875 (D) 1880

50 Over which of the following rivers is the world's highest railway bridge in Kashmir being
construcled?

(A) Chenab  (B) .‘helum (C) Sutlej (D) Indus
51 Which of the following ran the first train from Bori Bunder to Thane in 18537
(A) Bombay Baroda Railway (B) The Scindia Railway
(C) Central India Railway (D) Great Indian Peninsula Railway
52 \Which of the following is the largest zone in terms of route kilometers?
(A) Western Railways (B) Eastern Railways
C) Nerthern Railways (D) Souihern Railways
= chief centre of learning during lord Buddha era was
a) Nalanda b) Delhi c) Varanasi d) Bodh Gaya
+1 T aweling allowance/Dailly allowance is admissible to Railway servants when proceeding 0'}
v beyond.
)5 KM b) 7 K.M. c) & K.M. d) None of these

-4 he Volume of © slab of stone measuring 4 mts in length, 2mts in width and 0.25 mts in

umis  b)3cu mts c)d4cumts  d) None of these
s ooooo 10 meter/Second in KM/Hrs

) 25 KIMHrs b) 40 KM/Hrs ¢) 30 Km/Hrs d) None of these
5 b following question, select the odd word irom the given alternatives.

() Newspaper (b) Journal (c) Novel (d) Magazine
2% 1 the following questinn, select the odd word from the given alternatives.

(2) Definite (b) Specific (c) Doubtful (d) Distinct
9 1ywhich eity s the Wheel and Axie Plant of the Indian Railways located?

) Kapurihzala o) Varanasi c) Bangalore d) Rae Barelly
G0, ihe Matree Exprass connects India with which of the following countries?

. Myarmar b. Pakistan c. Bangladesh d. Nepal



61. In which of the following cities are located 3 zonal headquarters of ing

| ' : 1an Railways?
a Guwahlatll e b‘.? Mumbai c. New Delhj 4 Korkata
62 Which vitamin is high in orange-
a. A b.B cC dD

63 Axle load of WDM2 locomotive is ..............ton.
(A) 18.8 (B) 20.0 (C)20.3 (D) 13.8

64 Minimum wheel diameter cf locomotive is ... .mm

A) 1000 (B) 950 (C) 906 (D) 1018
65 Maximum wheel diameter of locomotive 1s ..MM

(A) 1000 (8) 990 (C) 1092 (D) 950

66.Reduction in BP pressure causes
(a) Brakes release b) Brakes slow release

(C) Brakes applicatior
(d) MR pressure increasing

67 is the Principle Chief of safety Deptt. Of Railway
£8 ... .. ... Formis used for Major Penalty.

(a) SF 1 (b) SF 5 (c)SF 9 (d) None of ther
83. ... days LAP is given to group ‘C’ employee?

()15 (b) 30 (c) 08 (d) 12
70 AACIsfor ... ......item.

(3) Stock (b) Non stock (c) Imported Stock  (d) Emergency Stock
71 Suspension is a -——-—--—-penalty

(a) Major (b) Minor (c) Smallest (d) None of them
72 Stock tems are drawl on Form No. —- 3

g) S1830 (b) Issue Ticket (c) DS 8 (d) None of them
73. Maternity leave is admissible for ........... days .

a) 30 (b) S0 (c) 180 (d) Norie of them
T4, Swey save is admissible after completionof ............ .. year service

(a) 05 (b) 10 (c) 15 (d) 03
75. D&AR 13 applicable by violation of --———-——----

a) Service conduct rule

fam
None cf them

(b) Service rule (c) Railway Act

= —— Is the nignest authority of Mechanical Department of Zonal Railway
‘@) CME {b) CWE (c) COM (d) PCME
778y . rule an employee can be removing without issuing charge shee!
a) 1112 'b) 14/2 (c) 10/3 ( d) None
T2 Tre e carogracn s associated with
4 Zree ) Jnder Frame c, Superstructure d) Overhead wire curran
= T TTnEN LT he cournalive |5 responsible for housing the wheels and axies
2, 21T ’:‘ 21 Under Frame ¢) Superstructure 41 She
ratis ihe pnmary curpose of the under frame in an electric locomotive”?
- -:-: :,; " :;:% corrol equiprrent b) To provide sealing for passengers
; OThUE e mad on the tracks a; To support the overhead wires
e ,: s Lumn Al dsed in jccomotive air brake systems?
o haen 0} tlitrogen ¢; Carbon dioxide d) Comipressea 2
f ,—- na purpose cf the prake pine in an ar brake system?
z) 'zenarate compras, -

| wressed 2 b) Distribute brake pressure
o urtinate nrake L=} re

[ e

K - e power o th acamolt

A7 WhIGH component « raer I awer o the locomotive -

3 L CoMpone Sonnsibla e rmamniaining a constant brake pipe prassure n the 2ir b .
cysiem’ namiaming a consian (& pIpe pressy
Ay Brmles ol .

A Brake cylinde b} Comprasas

B4, ACD means ]

r) Brake valve ¢ Feed valve
=) Ayt =collisinn TJF‘,"H' &

ci Accidents eausing rerq,

) Accidents causing deat!
1) None of the above

Trnk
nent



“ rull form of O IS7
al Centre f:),fqﬁan-:").“-' intarrogation System b) Cr:ntre for Republic Information Systamr
<l Centre for Railway Informaton System d) Nore of a2bove
36 Whaiis neaning of Vv in WDG4 loconiolive
a) Meter gage 1) Broad gage ¢) Diesel ioco d) Electnc loco
97 In Diese! locomotives what ro= does the iraction motor plaf"l
& Generate electricily b Drive the wheels ¢ Control speed d Provide braking

58 Boge configuration of WDP4 Locomotive is
(@) CC-CC  (b)Bo118o (c)BC-BO  (d) BU-BU
88. Location of Battery Knief Switch in WDG4 Loco is
(2) Nose Compartrent (b} In Accessories room (€) In LP's cab Lgco
(d) Left Side Foot Piate
90. HHP Loco Hand brake is appiicable for Wheel No.____
(a)L4 (b) L2 (c) Ra (d) R2
21, In WDM2 engine, the Water purnp is driven by
(a) Motor (b) Pu'ay c) Cear (d) Bells
Cooling Water capacity 1In WDM2 locomotive is liters
(a) 900 (o) ¢10 (c) 1300 {d) 1210
93. In Alco Locos Lube cil Cooler is located in
{a) Radiator room {bj Compressor room (c) Generator room {d) Under truck

[{e]
.

24. How many Numbers of brake blocks are provided on WDM2 Locomotives?
(a) 18 b) 24 {c) 32 (d) 22

5. Turbo supercharger is rotated by --—-
(@) Cam gear b) Exhaust gasses  (c) Crank shaft (d) AC motor

Institution monitoring of probaticnary training for Indian Railway Service of Electrical
Engineering (IRSEE) siiuated at....
a) Nasik b) Vadodara c) Jamalpur d) Secunderabad
97. The number of Brake cylinders provided on WDM?2 locomotive.
2) 8 b) 8 (c) 10 (dy 12
98. M R (compressed air pressure) Unloading will take place 2t kg /cm2.
(a)8 b) 9 (c} 10 (d) 11
§€. Whal s the colour code for the B.P pressure pipe?
(a) Black D) Rad (c; Green (d) Yellow
100 FP pressure in loco shall bn and in BV kg/Sq.cm.
(2) 50,48 b)50,47 (c) 6.0,58 (d) 6.0.57

L)
(9 4]

Rajbanshi Optional Questicn: -
~! pregent. how many languages are enlisted in the Eighth Schedule of the Constitution?

2] 23 {b) 22 {c) 25 (d) 28
VWnat's the Foreign Language inciuded in the Eight Schedule?
(a) Nepali (b) English {c) French (d) German
In which year, Hindi (Parliament) Section was established in Railway Board?
(2)1956 (b) 1960 (c) 1962 (d) 1955
“nen was the Official Languages Act 1963 passed?
(2)10.05.1963 {b) 10.05.1865 (c) 10.05.1966 (d) 10.05.1982
5. \Whenis Hindi Day celebrated every year?
{a)14 September (b) 20 September (c) 14 June (d) 14 May
& men wzs he Official Languages Act 1963 amended?
(2)1967 (b) 1960 (c) 1962 (d) 1955
"'nat s the Official Language of Arunachal Pradesh?
) Nepali {b) English (c) Hindi (d) Bengaii
J. Jccording to Official Language Rules, under which region Andaman & Nicobar Islands
yma?
2) A Region (b) B Region {c) C Region (d) D Region

=7 when did the Section 3(3) of Official Languages Act take effect?
=) 25 January 1965 (b) 26 January 1966 (c) 26 January 1967(d) 26 January 1968

(2] £ .

m whicn states, Urdu has been declared as Official Language?
{a) UP (b) Bihar (c) Rajasthan (d) Gujrat

Dy
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